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The figures in the margin indicate full marks
for the questions

1. oo fEea Tee [ ws Teach! qify S
1x8=8

Answer the following / Choose the correct

answer :

(@) UNDP-3 a1 251 Crll TR S 5o
GIINELECACCICERC!
In the latest UNDP report of HDI, India
has been ranked

(i) 129
(i) 130
(i) 131
(iv) 8°[R9 G018 T
None of the above
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(2) .

(b) FZIFIS TRE TG [ WNE T'F

The base of classical theory of

development is
(i) IEFR FER A9 oF AP ST
epel

Technological progress and
availability of natural resources

(i) IRIAN FER LS e TranTiesa
Technological progress and indus-
trialization
(iii) FRINV FrER 7S I TR 3%
Technological progress and popula- |
tion growth
(iv) S°RT 9HIS T -
None of the above

(c) TR FFREE A8 Teormierel 2'7

P9/673

Marginal productivity of disguished
unemployed is
(i) ARG T
equal to zero
(i) "FIOLT N4 ,
greater than zero
(i) (i) ST (i) FEAO!
Both (i) and (i)
(iv) SR GHIS T/
None of the above
( Continued )



(3)

(d) 5 T IR =R W W

fe)
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In Nurkse’s view, surplus labour is
observed in

(i) STl e
industry sector
(i) G &S
tertiary sector
(i) I 199
agriculture sector
(iv) (i) S (iti) TCA!
Both (i) and (i)

AR RFER Fees <61 I

Give an argument in favour of economic
planning.

IR S TG o1 SaRme! o |

Write one limitation of Malthusian
theory of development.
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(4)

(g) T¥IW© TR T'I AR WOW WET Fgew

o @10 Teemyers R 2'3 @ ?

According to Rostow, what is the
minimum  percentage of national
income, that should be used as
productive investment at the stage of
‘take off’?

(h) eI TRIA ©gq <GB SwRme! o |

Write one limitation of doctrine of
balanced growth.

2, wR R @ oReR eme 5 G/ Brar (e

150 *=1 fSow9) :

Write short notes on any four of the following
(within 150 words each) :

fa) IRIA e uF ALART A4S

Technology and economic growth

(b) [T TS AR vFg

(c)
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Importance of education in economic
development

'wﬂtﬂ%¢€mm#scﬁalw@agﬁhm

Role of tertiary sector in economic
development

{ Continued )
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(5)

(d) IR LRSS RFF g

(e)

3.

(b}

4. (a

P9/673

Role of planning in market economy

I T 4R
Concept of unbalanced growth

T AR BER WY TR P 9%y
A T 1 A OHA CE oS TS
oAt FRJ < 2 I wodfian 8+4=12
Discuss the importance of Human
Development Index (HDI) as a measure

of development. Can HDI reflect actual
level of development? Give reasons.

9341/ Or

RART oS TF ALART I TR
ol | S AP G S
XS (T R FTUPTR AN M1 4+8=12
Distinguish between economic growth
and economic development. Discuss the
obstacles to economic development in
developing countries.

o T OGO IR JMI 3 e
ATRESPIE TEY 791 | 8+3=11

Explain the theory of ‘ unbalanced
growth. Write the limitations of this
theory. :
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5. (o)

(b)

6. (a)
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(6)

{1/ Or

@R FIeR PR ARG SgB MM FAM 1 11

Explain Gunner Myrdal’s theory of
backwash effect.

e ITEe e fe@ wemR 19
IRV AT 30 | @ F0m 73 I
e TG srre fran 1 : 8+3=11
Discuss the main causes responsible for

the growing problem of unemployment

in developing countries. Suggest three
measures to remove the problem of
unemployment.

531/ Or
Sors FARIRR o O o 5+6=11

Write short notes on the following :
(i) W3 fErE
Brain drain
(ii) TR T SAEeTS FER SR
Role of health in human resource
development

IR IFFy WERE THE TR Torre
HICAGT 91 | 11

Discuss Nurkse’s view on transfer of
surplus labour.
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(7)

w491/ Or

(b) ST TS TCHREIR BFG ACAA
M| ARPE 8RS TR oS YT
o 8+3=11
Discuss the importance of industriali-
zation in economic development. Briefly
highlight the impact of industrialization
on environment.

7. (a) SRR TawTe G ST I T 11
Explain the role of State in economic
development.

s/ Or
(b) TS fRAARE 5 (o ford : 6+5=11

Write short notes on the following :

(i) T S i 2o SE-(E
Income-inequality as an obstacle to
economic development

(ii) SR (T QAR T
Measures to remove regional
disparities
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